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Instructions:

(1) All questions are compulsory. Internal options are given in Question Nos. 5 to 18.

(i1) Question Nos. 1 to 4 are objective type questions. Each question is allotted 5 marks.

(111) Question Nos. 5 to 7 carry 2 marks each. Answer word limit is 30 words.

(iv) Question Nos. 8 to 10 carry 3 marks each. Answer word limit is 75 words.

(v) Question Nos. 11 to 15 carry 4 marks each. Answer word limit is 120 words.

(vi) Question Nos. 16 to 18 carry 5 marks each. Answer word limit is 150 words.

Q.1.Choose the correct alternative and write in your answer book : 5

(a) The repeater is used in -

(1) Mesh Topology (ii1) Ring Topology (ii1) Bus Topology (iv) Star Topology
(b) Which of the following is the largest unit of storage?

(1) GB (ii) KB (iii) MB (iv) TB

(c) The old name of java was-

(1) J Language (i1) Oct (ii1) Oak (iv) OOL

(d) Key to represent relationship between tables is called :

(1) Primary key (i1) Secondary key (ii1) Foreign key (iv) Database key

(e) Which of the following is a Social Network?

(i) amazon.com (ii) eBay (ii1) gmail.com (iv) Twitter

Q.2. Fillin the blanks: 5

(1) Web pages are created using a language called .................

(i1) A topology where a node is present in middle ......

(111) Java application begins at method ....................

(iv) On successful compilation of a java source code ............ is generated.

(v) Business involving transaction using electronic media is called as ..........

Q.3. Answer in one sentence — 5

(1) Write the name of any one RDBMS.

(2) Who developed Java?

(3) The function returns the square root of a given number.

(4) Write the full form of SQL.  http://www.mpboardonline.com
(5) Do primary key field of a table accepts NULE values?
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Q.4. Match the following: 5
‘CA’) HB n .
(i) Switch Statement (a) Data about data
(i1) Metadata (b) Yahoo
(ii1) Create (c) Flow of Control
(iv) Portal (d) Java database connectivity
(v) JDBC (e) DDL Command
(f) Boolen
Q.5 Whatis Bridge? 2
(Or) Write two advantages of Networks.
Q.6 What does Java Development Kit (JDK) mean? 2
(Or) Name any two object oriented programming languages.
Q.7  What are DML Commands? 2
(Or) What is Primary Key?
Q.8  What do you understand by ALINK? Explain with an example.
(Or) What are container and empty tags?
Q.9 What do you mean by relational model? Write its advantages.
(Or) Write any three advantages of database management system.
Q.10 Write the social impacts of e-commerce. (any three) : 3
(Or) Write any three limitations of e-learning.
Q.11 Write any four advantages of fiber optic cable. 4
(Or) Write any four features of LAN.
Q.12 Explain Do-While Loop with syntax. 4
(Or) Explain Switch Statement.
Q.13 Write any four features of MYSQL. 4
(Or) Explain - (1) Sorting (i1) Update
Q.14 How to create table with constraints? 4
(Or) What is UNIQUE Constraints? Explain.
Q.15 What are objectives of e-Governance? 4
(Or) What do you mean by Informania? Explain.
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Q.16 What is IP address? Explain with example. 4

(Or) Write any five advantages of e-mail.

Q.17 How to create a project in Java with the help of Net Beans IDE? 5
(Or) Describe the Swing Controls of Java. (any five)

Q.18 Explain Graphical User Interface in detail. 5
(Or) Explain all the components of ER-diagram.



